
S6 (mod 2)

blocks defect matrix

2.G : 1 5 15× 3
2 1 2× 1

6.G : 3 4 9× 3

Block 1: ϕ1,0 ϕ2,0 ϕ3,0

11 = χ1,0 1 . .
12 = χ1,1 1 . .
51 = χ2,0 1 1 .
52 = χ2,1 1 1 .
53 = χ3,0 1 . 1
54 = χ3,1 1 . 1
91 = χ6,0 1 1 1
92 = χ6,1 1 1 1
101 = χ7,0 2 1 1
102 = χ7,1 2 1 1

41 = χ8,0 . . 1
42 = χ8,1 . . 1
43 = χ9,0 . 1 .
44 = χ9,1 . 1 .

201 = χ12+ 4 2 2

ϕ1,0 = 11
ϕ2,0 = 41
ϕ3,0 = 42

Block 2: ϕ4+

161 = χ4+ 1

162 = χ10+ 1

ϕ4+ = 161



Block 3: ϕ6+ ϕ7+ ϕ8+

61 = χ14+ 1 . .
62 = χ15+ . 1 .
121 = χ16+ 1 1 .
181 = χ17+ . . 1
301 = χ18+ 1 1 1

122 = χ19+ 1 1 .
123 = χ20+ 1 1 .
241 = χ21+ . 1 1
242 = χ22+ 1 . 1

ϕ6+ = 61
ϕ7+ = 62
ϕ8+ = 181


